Worksheet

1.

10.

Construct a quadrilateral ABCD where

a. AB=4cm,BC=52cm,CD=3.4cm,DA=4.5cmand AC =6 cm
AB=35cm,BC=29cm,AD =4.4cm,AC =6.2cm and BD =6 cm
AB=4cm,AD=3cm,BD=5cm,BC=3.9cmand AC=4.9cm
AB=5cm,BC=4cm, AD =3.5cm, ZA=120° and «B = 60°
AB =5.8cm,AC =4 cm, Z/A=60°, /B =90° and «D = 120°
AB=5cm,BC=4cm, /A=75°, /B =105°and 2C = 100°
AB=6cm,BC=5.3cm, ZB =45°, AD=3.5cmand CD =2.9cm

h. AB=4cm,BC=3cm,AD=2.5¢cm, CD =4 cm and ZA =60°
Construct a rectangle where

a. AB=6cmand BC=4cm

b. AB=4cmandBD =5cm
Construct a square ABCD such that AB = 5.5 cm.
Construct a square ABCD whose diagonal measures 6 cm.
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Construct a parallelogram PQRS in which
a. PQ=5cm, QR =3.8cmand £ZP =45°
b. PQ=54cm,PS=4cmand QS=6cm
c. PQ=54cm,PR=6.3cm, QS=3.2cmand PS=5.2cm
d

. PR=6cm, QS =5 cm and ZPOS = 60°, where O is the point of intersection
of PR and QS.

Construct a rhombus ABCD where
a. AB=4cmandAC=6cm
b. AC=8cmandBD =6cm
c. AB=6cmand LA=45°

Construct a quadrilateral ABCD in which AB =4 cm, BC = 3 cm, «B = 90° and
AD =AC =CD.

Draw a square whose diagonal measures 8 cm.

Construct a trapezium ABCD where AB || DC, AD = 6.4 cm, AB =BC =5 cm and
#D =60°.

Construct a rectangle ABCD in which AB = 6 cm and ZCAB = 30°.





